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LIMIT
DPP -1

1, lim([x -3]+|3-x]|-x], where [.] denotes the greatest integer function, is equal to

¥—33

(A) 4 (B) - 4 (C) 0 (D) does not exist

[x+1, x>0
2. Let f(x) = 12_}{, % &0

X + 3, s
dniB _ .
and g(x) = | X 2X 4 1=X<2 pap img(f(x)) is
x—5, %a2 .
(A) 2 Az (C) =3 (D) does not exist
o sin| cos x |
i ; .
3. +0 1 +]COSX | ([.] denotes the greatest integer function)
(A) equal to 1 (B) equal to O (C) does not exist (D) None of these
4. If f: R - R is defined by f(x) = [x = 3] + |x - 4] for x R, then Im f(x) is equal to (where [.]
represents the greatest integer function)
(A) - 2 Al (C) 0 (D) 1

'x]* +15[x]+ 56

lim e . ;
) S sin(x + 7)sin(x + 8) (where [.] denotes the greatest integer function)
(A)is O (B) is 1 (C)is-1 (D) does not exist
, 1/ X
6. The value of lim (1+[X]) ", where [x] is the greatest integer < X, is
(A) e (B) 1 (C) does not exist (D) O
Iim{l_ x Y .
7. il & T Is equal to
e e
(A) e (B) O (C) o1 (D) does not exist
A
8. The figure shows an isosceles triangle ABC with
/B = ~C. The bisector of angle B intersects the
side AC at the point P. Suppose that BC remains 5

fixed but the altitude AM approaches 0,
so that A - M (mid-point of BC). Limiting value
of BP, is (where a is fixed side BC) M

(A) 2 ®) 2 © 3 (D) 7
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9. If Ixi_rmln(::-:2 = 5}:) -2In(cx + 1]) = — 2, then which is not correct ?
(A) c = e! (B) c = e (C)c=e (D) c = e?
10. Which of the following statements are true for the function f defined for - 1 < x < 3 in the figure
shown.
y
4
& @
1..
T o 1 2 3 &
(A) lim f(x)=1 (B) limf(x) does not exist
(C) lim f(x)=2 (D) limf(x) = lim f(x)
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LIMIT

: I8 The graph of a function g is shown in the figure. Use it to
y
A
41
" y=g(x
o % 5 4 5
state the values (if they exist) of the following
(a) Lim g(x) (b) Lim g(x) (€) Lim g(x) (d) Lim g(x)
(e) Lim g(x) (f) Lim g(x)
J Xx—-4 1If x>4 | - _
2. If f(x) = 18—2){ £ Xﬁ:drdetermme whether '} f(x) exists.
(A) 1 (B) O (€)~1 (D) Does not exist
sin x|
3. Evaluate L'rﬂ x (where [ « ] denotes the greatest integer function)
(&) = 1 ) (B) 1 (C) O (D) Does not exist
[x2+1 x21
4. Iff(x) = {. . "~ then the value of '™ . f(x) is -
' |3x-1 x<1 X —>1
(A) 1 (B) 2 (C) 3 (D) Does not exist
5.  The value of /™ 4 [X] is-
(A) 1 (B) 2 (C) 4 (D) Does not exist
. X -2
6. Evaluate |im
¥ I
(A) 1 (B) - 1 (C) 0 (D) Does not exist

y ol o _lim\/(1+5in3x)—1
' veHals ks In(1+ tan2x)

3 3
(A) 5 (B) 3 (C) 1 (D) 3
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o Jar2x —4/3x

8. X—>a Jx+3a-2vx equals-
1 2 2
(A 5 B) 5 (C) 33 (D) 2/3
(2%
l+—, 0< 1 s o
9, Let f(x) = 1 * q e g L‘”ﬂ H(X)  exists, then a is
ax, Rt
(A) 1 (B) - 1 ()2 (D) - 2

10. If Lim (2-x+a([x-1]+ b[1 + x]) exists, then a and b can take the values

x—1

(where [ - ] denotes the greatest integer function)

]
(A)a—g,bzl (Bl)a=1,b=-1 (C)a=9b=-9 (D)a=2,b=

W |
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LIMIT

X +3x+5
1 If Lim — exists then
x> 4X + ]+ X
(A) k = 2 (B) k < 2 (C) k > 2 (D) k=2
o In+2(n-D+3(n-2)+...... .1
2. [.fti 22 (21‘1 ,3+ En )+ . it has the value
n—> |“+2" +3"+...... +n-
A l B l C i D) 1
(A) (B) 5 €y 3 (D)
| 1 4 9 - . sin2;
3. fo=Lm|—+——+——+...... + n and p = Lim s%n 2 , then the quadratic
n—>x{n°+] n +1 n’ +] n- +1 x =0 sSIn8x
equation whose roots are o, P is
(A) 12x2 -7x+ 1 =0 (B) X2 + 19x - 120 =0
(C) x2 - 17x + 66 = 0 (D) x2-7x +12=0
4. The limit of x:’{\/xz +\/x4 + 1 —K\E} as x — 2 equals
l ] |
(A) 2 (B) 42 (C) zero (D) NG
. (3m%x+5hx+6 |
5. Lim - is equal to
x—0" l+/mn~x
(A) O (B) 3 (C) 1 (D) does not exist
. I
6. If Lmn(J2nl+n——kJ2n?—nj:>ﬁ— where A >0, then A is equal to
n—ri N \/E
A) -1 B) 1 ¢ ; D) /2
(A) - (B) (C) NG (D)
. n 2 | - 2
7. If Lim LR = 1, then p is equalto
x>0 X + tan x
(A) O (B) 1 (C) .2 (D) -2

i
8  Let L= Ljp 2= ooxtatl o otnie then

?
Xx=>-2 X +x-2

4 — ]
3

(A) L = (B) L =13 (C)L=-2 (19 Ly —
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LIMIT
DPP - 4

1. If Lim (x 3 sin 3x + ax 2 + b) exists and is equal to zero then
XU
(A) a=-3 & b=9/2 (B) a=3 & b=29/2
(C) a=—3 & b=-9/2 (D) a=3 & b=-9/2
| x )
2 Lim x ——( } J equals
X—> L C X+
A) - 5y 0y - Dy
(A) - (B) 5. (©) 5 (D)
. l—cosa . sInXx
3. If a is non-zero real number and Lim .,S * = Lim , then sum of the squares of all
x—0 X X—>T TT—X
possible values of a, is
(A) 2 (B) 4 (C) 8 (D)9
4. Which one of the following limit does not have value unity ?
(A) Lim SIn (.tan X) i Tdm sin(cosx)
X—0 SIn X St COSX
2
1
oA+ x —4l—x ' 2
(©) Lim (D) L].m(smx],
x —3(] X x—0 _ X _
L
5. Lim (2° +3" +5" +77)* is equal to
N —
(A) 2 (B) 3 (C) 5 (D) 7
_.cos (1=x)
6. Limit ' =
¥ —» () \/;
|
(A) — (B) +2 (C) 1 (D) O
= 2
7. Lim[ﬁ;\/aJ ., P, g >0 equals

(A) 1 ®) \/pq (©) Pq (D) =
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atan | —
8. If Lim 2—3] . Zl, then a is equal to
X —>a X c
A B &) = by, ==
(A) - (B) = (©) 5 (D) —
307 =15 =10 =6 +5" +37 427 -1 . .
9. The value of the Lim =A2/nk/n5, where A, k € N,

x—0) X Sln X tan X

then find the value of A + k.

: o[ x4+ " ae”
10. If the value of Lim x { ) — ¢~ | is equal to & (where a and b are coprime) then find
X—

the value of (a + b).
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LIMIT
DPP -5

x" —ax+a—1

1. Let Lim ——— = f(a). The value of f (101) is
o1 (x-1)
(A) 5050 (B) 5151 (C) 4950 (D) 101
7 Lim ,? + Zn F vanen E ,Jn
n—>7 {n 4+l n°+2 n-+n
(A) is equal to zero (B) is equal to 1/2
(C) isequal to 1l (D) does not exist .
X XH
3 Limx/2 » — is
X—>f =0 n!
(A) 1 (B) e (C) 2e! (D) O
11 4 +
4. Let P(n)= |]|!1- ~| then Lim P(n) equals
aad & (2n—1)° n—
A) - B) - 0) + D) —
(A) (B) 3 (©) 3 (D)
(¢ r )
n Zk
5. The value of Lim| » | &= is equal to
1—>07 4
! | Zkg
k=1 /)
(A) 2 (B) 4 ()9 (D) 10
_([e*=1] [sinx] [In(l+x)
6. The value of Lim F - P L LA J equals
x—0 i X i i %X | i X |
[Note: [x] denotes the greatest integer function.]
(A) O (B) 1 (C) 2 (D) 3
. ax’ —cosbx —coscx +2
7. If a, b, c are real numbers such that Lmm - 7 - =4, then the value of
x—>0 X"+ 2x7 +3x
(a2 + b2 + c?)is
(A) 8 (B) 16 (C) 32 (D) 64
o (I—-tanx —cosx +x)(M(l+x)—
8. Llet n € N be such that L = le( E - ) X_')( L FR)- &)
x—0 X (X —sinx)
where L is finite and non zero, then the value of (n + 2 | L| ) is equal to
(A) 3 (B) 4 (C) 5 (D) 6
. .
9, Lim (47 4 p)yn 0 < a < b, is equal to

11—

[1]+l):
10. Use Sandwich theorem to evaluate: |L.im Z L

Nn— \/E

k=n
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